2
=\/12+(1ﬂ) —2z - 120 . cos 120°

2 +1° 999 4 100.

W 0<<<10 B, 5 F 7EREXCD I,

i smwm=%(x+cp‘> + 10  sin 60°=25/3 , 18
CF‘:].O_I )

% BE>CF if,EF =

V102 +(22z—10)2—2 + 10 * (2z—10) * cos 120°,
34 BE<CF H},EF=

V102 +(10—22)2—2 « 10 « (10—2z) * cos 60°,
Bk y=EF=2 /x?—5x+25.
2 vV x*—5x+25,0<x<10,

Gl.y=q 10 000
I

3) BoLze<10 Bil‘,y=2 Vx?—5zx+25 =

2 (x——g‘)z‘FE

4 9?%% I=%Bﬂ-vymin=5*/§9

St CF=1o—x=12§,

WI1I0<zr<2 B, y = 1oooo .
\/2 e 101200 00— 10/35573.

B4 EBESB 2.5m,F B C 7.5 m A, EF (KB
845, B 5/3 m.
il % m
L5 RHT] OG5 RAR Y 1,2,3,4,5, %k

BB KRR 2,3,4, MPTREERY P=

2.a,=2""" [fE#F] &5 {a. AR q(Q>0),
EEE-%H% 2a; tarq=a:q* , 1%/ ¢=2,FfLh b, =
log; (a; » 2" V) =logza, +n—1, M HAT 10 HH K
10(logza; — 1D+ (1424 +10) =45, # logsa; =
0,ffd a1 =1, kA a, =271,

3.5/2 (AR EMEKEEN D = /I3, B

AL, 1D, HEA L% MN HE B d =

1—A+D|_v2
J2

542.

,mu MN =2 13—(%5)2 =

. 6 (M) BN 3°+9 =3 +3>2 /3 . 3% =

2 /3, X z+2y=2,ffLh 3 +9>2 /375 =
2/F =6, 5 BT 3 =3, B 2=1,y=L B
%5,

. 8 [RR#T] BEAA A BXFRFO MR A KLITRE

(2,0), BFLL &K A BB BC b &, B LLOB +

— — — = — —_— —>
OC=20A,fA(OB+0OC) - OA=20A - OA=

—>
20A*=2X4=8,

. [(—4,0U@,28] [ &EH f(x)=2x°—

3z24+a, M f' (2)=62—6x=6x(z— 1),z €
[—292]./#\ fl(l')>091§16[_290)U(192]3/%
f(x)<0,#8 z€ (0, D.FFLL f(2)7E(0,1) EHF
ii?}ﬁ, E[_Z’O)v (1, zjtiﬁﬁig @%J
f(—2)=—284+a, f(0)=a, f(1)=—1+a,
f(2)=4+a,FU—28+a<0<—1+a B a0
4+a, @8 ac[—4,00U(1,28].

. (1) EE;@%]A 2y_=?_?=—9ﬁ)fu T=n,

-Z—K-—Z JHTEA f(2)=2sinC2x+¢). X f(x)KIE

%J\i}g\(l—;,Z),Efu sin(?"+¢) =1,Eﬂ)}.€+

p="3 T2nk €D, M g=—7 +2%kx RED.X

LS N __ T

(@) BB f(z)=2sin (21

A 2a——€

3
ﬂgf(a)=1,ﬂfu5in(2“ %):%
s€(5

%€ (35.5):

o & ST oy, T
Lk 2a 3 6,}5)?1«1201 6’

FTLA cos 2a=cos %=—§.



